[d° sum p_/dndeGeV]

Ratio to ATLAS

[EEY

0.5

Rivet 3.1.10, 3.7M events

7000 GeV pp Underlying Event
st L N L L L L LY L B B BN BN o
— Average Z(pT) VS p'Te""OI (nl<2.5,p_>0.1GeV) ]
-~ m ATLAS -
—— ¢ Sherpa 2.2.9 default —
- m
— . 4
B . . " _.." ’ : ]
- n bt N
— L LRt ]
B l... +? oY —
B s ]
L . "_,..0‘ |
- "“0 _]
B — 4+ 1 | | | | | | | | | | | | | | | | |_
: T T T | T T T T | T T T T | T T T T |:
| ’ ’__’..9--9---0 """ L ' R A ¢ ]
G 22 _

. v
B Q"‘o 0‘“’ B

T .’M" ........... T S SR T I T S T T l

0 ) 10 15 20

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

P, (leading track) [GeV]



	Contents
	Page 1


